

https://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D%5Cbegin%7Bpmatrix%7D2%20%26%20-1%20%5C%5C0%20%26%201%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=B%3D%5Cbegin%7Bpmatrix%7D-1%20%26%200%20%5C%5C2%20%26%203%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%282A-B%29%5Ccdot%28A%2B3B%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D-17%20%26%20-25%5C%5C-4%20%26%20-8%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D-17%20%26%2010%5C%5C8%20%26%204%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D18%20%26%2020%5C%5C-8%20%26%20-4%20%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D-15%20%26%20-20%5C%5C4%20%26%2010%5Cend%7Bpmatrix%7D
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Question 2

Not yet answered
Marked out of 1.00

00mbLgbom gobghmemgoo:

Select one:
O a. -2
Ob. 2
Oc 4
O d. -1

Question 3

Not yet answered
Marked out of 1.00

300MM30M M A 192 9

Co—CD
S ]
| o |

Select one:
O a. 10
O b. -11
Oc 1
O d. 12
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bvmatrix%7Dx%20%26%20-1%20%5C%5C4%20%26%202%5Cend%7Bvmatrix%7D%3D%5Cbegin%7Bvmatrix%7D1%20%26%200%20%26%20-1%20%5C%5C3%20%26%201%20%26%20-1%20%5C%5C2%20%26%201%20%26%202%20%5Cend%7Bvmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=A_%7B12%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D3%20%26%202%20%26%20-2%20%5C%5C1%20%26%200%20%26%202%20%5C%5C%203%20%26%201%20%26%20-5%5Cend%7Bpmatrix%7D
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Question 4

Not yet answered
Marked out of 1.00

sown gL A=( 2 3)

Select one:

O a.

~J|==JeD
~ano_ |
~IICo

O b. 23
7 7
42
77
oc-(l 3
7T 7
12
77
od /13
77
12
77
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%5E%7B-1%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D%5Cbegin%7Bpmatrix%7D2%20%26%203%20%5C%5C-1%20%26%202%20%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20%5Cfrac%7B2%7D%7B7%7D%20%26%20-%5Cfrac%7B3%7D%7B7%7D%5C%5C%20%5Cfrac%7B1%7D%7B7%7D%20%26%20%5Cfrac%7B2%7D%7B7%7D%20%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20%5Cfrac%7B2%7D%7B7%7D%20%26%20%5Cfrac%7B3%7D%7B7%7D%5C%5C%20-%5Cfrac%7B4%7D%7B7%7D%20%26%20%5Cfrac%7B2%7D%7B7%7D%20%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20%5Cfrac%7B1%7D%7B7%7D%20%26%20%5Cfrac%7B3%7D%7B7%7D%5C%5C%20-%5Cfrac%7B1%7D%7B7%7D%20%26%20%5Cfrac%7B2%7D%7B7%7D%20%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20%5Cfrac%7B1%7D%7B7%7D%20%26%20%5Cfrac%7B3%7D%7B7%7D%5C%5C%20%5Cfrac%7B1%7D%7B7%7D%20%26%20%5Cfrac%7B2%7D%7B7%7D%20%5Cend%7Bpmatrix%7D

1/11/22, 2:02 PM 60dwdo 2

Question 5

Not yet answered
Marked out of 1.00

00mbbgbom Lobhgdo 3G0TgHHOL Bglom O N3M39M 5[71 + h 9 + h 3 T 1 —|— T 9 — 3

:1:1+2:1:2+:1:3=7

Select one:
Oa 4
Ob. 5
Oec 7
O d. 10

Question 6

Not yet answered
Marked out of 1.00

03m39m A(-3;4) B6gm¢homol ox mgMmdol dododmm bLodgh®ogmo BaOHOMOL 3MMMEObadmo Fodo.

Select one:
Oa. 8
Ob. 7
Oc -8
O d -7
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=x_1%2Bx_2%2Bx_3
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bcases%7Dx_1%2B2x_2-2x_3%3D1%20%5C%5Cx_1%2Bx_2%3D3%20%5C%5Cx_1%2B2x_2%2Bx_3%3D7%5Cend%7Bcases%7D
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Question 7

Not yet answered
Marked out of 1.00

S
300398300 39990 O ( 1 — 2 }4 ) b ( —3.1-=-2 ) 030390 33 __ 9 g 399MM0b 3MMMOEOBHIOO

P

Select one:
O a. (9,-8,16)
O b. (10,-8, 12)
O c. (8,10, -16)
O d. (9,12, -16)
Question 8

Not yet answered
Marked out of 1.00

—
M 3997900 A B (4 , 3 ,— 9 )} B ( 1 , 9 ,— ) ) 03m39m A Bgmhomol 3mm®mEobohgdo

Select one:
Oa (31,-2)
O b. (3,2,-1)
O ¢ (3,-1,0)
O d. (-3,0,1)
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%281%2C-2%2C4%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Bb%7D%28-3%2C1%2C-2%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=3%5Cvec%7Ba%7D-2%5Cvec%7Bb%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BAB%7D%284%2C3%2C-2%29%2C%20B%281%2C2%2C-2%29
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Question 9

Not yet answered
Marked out of 1.00

S
Y ©o ﬁ-b @0 8608369mmdIO0LMZ0L 560 3060 ( 1 O, — 2) © b ( ﬁ , 4 , 6) 399MM900.

Select one:

O a.

Question 10

Not yet answered
Marked out of 1.00

o300 (G4 5)2 o0|d|=3.|p|=2 e (d b)= %ﬂ

Select one:
Oa 9
Ob 4
O¢c 6
Od 7
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbeta
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%281%2C%5Calpha%2C-2%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Bb%7D%28%5Cbeta%2C4%2C6%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha%3D1
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbeta%3D%5Cfrac%7B4%7D%7B3%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha%3D3
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbeta%3D-3
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha%3D-%5Cfrac%7B4%7D%7B3%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbeta%3D-3
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha%3D3
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbeta%3D-3
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%28%5Coverrightarrow%7Ba%7D%2B%5Coverrightarrow%7Bb%7D%29%5E2
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7C%5Coverrightarrow%7Ba%7D%7C%3D3
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7C%5Coverrightarrow%7Bb%7D%7C%3D2
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%28%5Coverrightarrow%7Ba%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Coverrightarrow%7Bb%7D%29%3D%5Cfrac%7B2%5Cpi%7D%7B3%7D
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Question 11

Not yet answered
Marked out of 1.00

O -b @0 8608369 md0LEMZ0L 50 (i (Ct“} 2 ,— 3 ) o g ( P , 1 , P ) 399HMM00 JoMNMAMO.

Select one:
Oa 3
O b. -5
Oec 2
Od -4

Question 12

Not yet answered
Marked out of 1.00

03M390m X, oy a’(a}Q}—l)@o|ﬁ|=3
Select one:

oa +£1

ob +3

Oc 49

Od £5
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%28%5Calpha%2C2%2C-3%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Bb%7D%282%2C1%2C2%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%28%5Calpha%2C2%2C-1%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7C%5Cvec%7Ba%7D%7C%3D3
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cpm%20%7B1%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cpm%20%7B3%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cpm%20%7B2%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cpm%20%7B5%7D
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Question 13

Not yet answered
Marked out of 1.00

03m390 3noby C ( 3 ,— 4 } 0 ) ©o g (4 , () , 3 ) 3990mMgAL dmeol

Select one:
o= arccos%
Ob'arccog%%
o arccos%
o arccos%

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=32512&cmid=1951 8/14


https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%283%2C-4%2C0%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Bb%7D%284%2C0%2C3%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=arccos%5Cfrac%7B2%7D%7B5%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=arccos%5Cfrac%7B12%7D%7B25%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=arccos%5Cfrac%7B1%7D%7B5%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=arccos%5Cfrac%7B3%7D%7B5%7D
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Question 14

Not yet answered
Marked out of 1.00

,
oamgom G(3,—1,0) @ 5(0,2,—3) sodomegwos gogomenmo Gaaeogeo

Select one:

°% 6i+97

©" 37497

©% 3149746k

©% 314+65+k
Question15

Not yet answered
Marked out of 1.00

.
030390 (1 ( 3 ,— 1 } § ) o b ( 0 , P — 3 ) 399 MM gAY 939070 30MOMIMMZEMHd0l GOOHMMIO

Select one:

Oa 132
Ob. 19
Oc 126
0d 14
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%283%2C-1%2C0%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Bb%7D%280%2C2%2C-3%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=6%5Cvec%7Bi%7D%2B9%5Cvec%7Bj%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=3%5Cvec%7Bi%7D%2B9%5Cvec%7Bj%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=3%5Cvec%7Bi%7D%2B9%5Cvec%7Bj%7D%2B6%5Cvec%7Bk%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=3%5Cvec%7Bi%7D%2B6%5Cvec%7Bj%7D%2B%5Cvec%7Bk%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%283%2C-1%2C0%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Bb%7D%280%2C2%2C-3%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Csqrt%7B132%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=12
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Csqrt%7B126%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=14
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Question 16

Not yet answered
Marked out of 1.00

03m390 ABCD hgh®ogomol dmEnmmodo, oy
A(2;1;3), B(4;1;3) , C(5;5;3), D(5;5;5)

Select one:

« »
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B8%7D%7B3%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B10%7D%7B3%7D
https://testing.gtu.ge/mod/quiz/view.php?id=1667&forceview=1
https://testing.gtu.ge/mod/quiz/view.php?id=1668&forceview=1
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